
SAP ABAP table CEERROR {CO-PA: Incorrect records from SD}

CEERROR

MANDT [CLNT (3)]

PAOBJNR [NUMC (10)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ETENR [NUMC (4)]

FPLNR [CHAR (10)]

FPLTR [NUMC (6)]

KSCHL [CHAR (4)]

STUNR [NUMC (3)]

ZAEHK [NUMC (2)]

ZAEHLER [NUMC (2)]

PERIV [CHAR (2)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

PRCTR [CHAR (10)]

VRKME [UNIT (3)]

MEINS [UNIT (3)]

WAERK [CUKY (5)]

HWAER [CUKY (5)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

FKART [CHAR (4)]

KUNAG [CHAR (10)]

MATNR [CHAR (18)]

AWTYP [CHAR (5)]

AWSYS [CHAR (10)]

VRGNG [CHAR (4)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 CEERROR-PRCTR = CEPC-PRCTR 
0..N

0..N

FPLA

MANDT [CLNT (3)]

FPLNR [CHAR (10)]

 CEERROR-FPLNR = FPLA-FPLNR 
0..N

0..N

FPLT

MANDT [CLNT (3)]

FPLNR [CHAR (10)]

FPLTR [NUMC (6)]

 CEERROR-FPLTR = FPLT-FPLTR 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 CEERROR-KUNAG = KNA1-KUNNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 CEERROR-MATNR = MARA-MATNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 CEERROR-MANDT = T000-MANDT 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CEERROR-BUKRS = T001-BUKRS 

0..N

0..N
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CEERROR-GEWEI = T006-MSEHI 

0..N

0..N
 CEERROR-MEINS = T006-MSEHI 

0..N

0..N

 CEERROR-VOLEH = T006-MSEHI 0..N

0..N
 CEERROR-VRKME = T006-MSEHI 

0..N

0..N

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)] CEERROR-PERIV = T009-PERIV 0..N

0..N
TBDLS

LOGSYS [CHAR (10)]
 CEERROR-AWSYS = TBDLS-LOGSYS 

0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CEERROR-HWAER = TCURC-WAERS 

0..N

0..N

 CEERROR-WAERK = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 CEERROR-GSBER = TGSB-GSBER 

0..N

0..N

TJ01

VRGNG [CHAR (4)]

 CEERROR-VRGNG = TJ01-VRGNG 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 CEERROR-SPART = TSPA-SPART 

0..N

0..N

TTYP

AWTYP [CHAR (5)]

 CEERROR-AWTYP = TTYP-AWTYP 

0..N

0..N

TVFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

 CEERROR-FKART = TVFK-FKART 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 CEERROR-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 CEERROR-VTWEG = TVTW-VTWEG 

0..N

0..N

VBEP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ETENR [NUMC (4)]

 CEERROR-ETENR = VBEP-ETENR 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 CEERROR-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 CEERROR-POSNR = VBUP-POSNR 

0..N

0..N


